e

To°

._.__.o_.o

oln

o
G

bk

= 239w
G = A

2=

1



®b:f



3.

2 I™o)A DABCD @2 oPQRS It Ty & &2 A& B5F 18

289
(1]
=]
O @E=Hl= © /P =120°
© AD:PQ ® /Q=715°
16
@ P =3
ONQ) @ ©,6
® 9,0,©0 ® 9,0,6,@



& e
c



o "ol A Al 2AH2FY ABCD, GAEH, EBFH 7}

G \
\
\
E H 2/6cm
/
B F C

t}Oo o]
M2

o, BF



6. the I TS AZHIAE ABC o WK
3} g U] HeHE?

®1:3 ® 2:3 @ 2:5
@ 5-9 ®3 5-11



ou or
o B
~ BH
H T
Ml b
N
2o
~ ol
o N
o|J 1D|
N o
T
R X
ﬂ/.
MK I
o ™ o
T | enTE

~

@ 1247wcm?

@ 1087mcm?

@ 156mcm?

@ 144mcm?

B 164mwcm?2



8.

& oA AD &) Zo]E L5H?

® 8cm






10. ohs 293 22 AZM47Hg ABC O] A BollA ACe] W™ 449
e Heh g o, x4y 9] 20

@D 8 @ 8.2 B 8.4 @ 8.6 ® 8.8



11. oh& 2742 ABC oA x, y, h ] 2HS
CEEES

g ©
o ra
< =

| I

v
L
=
[



12, o2 2" A A =

90° 2?1 AABC & A& DE

22174 B ¢ 07 QA5 HlS W), AD S @




2

TRA ARZY

O
)

13. o

_-5Cm-~ _

-

4cm

NS

E
N

® 1.25 ® 15 @ 1.75 B 2

D1



14. o2 O3Ho|A AD & /BAC 9] o]5E40]1, AABC 9] HolE a
23l §F off, AABD 9] HolE a o #sto] YEFH?




15. o 187 22 AABC oA /BAD = /CAD = 45° & @, AABD
o] wol& Fstefzt




16. o5 1" 2ol AABC of|A A 9] £]719] o] 52413 BC o] A%
Aol wH-E D 2t & o, AABC : AACD =7




17. & 189 AABC 94 BC / DE & o,
DQ 9] do|& Fatodzt,




18. & 29O AD J/FF /BCLA W vy p.-o-.
o] e g oo \E
il

7 7
@x:§,y:11.5 @x=§,y:12.5
7 8
@x:§,y:13.5 @x:g,y:12.5
8
® x= §,y:13.5



19. the 1%°] gABCD 4] AD//EF//BC, AE : EB = 2 : 3 o],
AD = 6em , BC = 15cm 9 o, PQ 9] Zo]=?

12 1 24
@ gcm @ gcm ©) Ecm
—cm ® 6cm



20. o "M aPBC 9] Hole?

_--ldem-
16cm
l\ P
C ~8cm~ D
447 448 449
@) fcm2 @) Hcm2 ® Tcm2
@ 90 2 3 22 (m2



21. tZ I29elA CD ¢ Zol=?




H7] FolM A g2 =32 257 2 A7

O
)

22. o

2371,
=249
=
=

wds

ee
54
B

T, 5 AR,
g
=
e
j
=

N
el

o Uk ok pE

@ 6 7 ® 70 @ 8 M ® 47

@ 574



7E10
= A8 HA o] mAes} g

18-~ _

P

@ 5

O 4



24. tHe 194 /BAE = /CAD, /ABE =
AACD o UH E}ﬁ > AABC 9}‘ i ano]
L9
O AABE @ aADC @ aBCF

@ AAED G ACDF

A




25. & I A AB =12cm, AD =9cm , AC =acm, BC =6cm ¥
o, x 9] & aol Bsto] LR HA?

A
\
|
I
!

acm
!

-~

D 3a o X @% @g ® 2



26. ts 1A x 9 gE2 FotoiEh




27.

tre I3} o] LA = 90°¢21 A ZHAF
Zt% ABCOlA AH L BCY o, y—x 9
ahg Tatolet.




28. o 2™ Zo] LA =900 A7

AB=20,AD=12,AC=15¢Y




29. UL 1S R HY|oA 2L AL BF 12H?

~~8cm-~Q~6cm”

(171
B

@ AAPR o AACB
© PR//BC
©PQ//AC
® ACRQ o ACAB
© ABQP ¢ ABCA

ORONC) ® 0,66 ® @ 6
® O @ ® © 6 6



30. & ¥y Zro] /BAC = 90°°]1, /BAD = /CAD, AB =
12cm, AC = 8cm € W, AADC 9] Ho|E FL5HH?

@ %CIHQ @ 9€6ch @ 40cm?
75
@ 45cm? ® —cm?



31. o2 a"oA A kb1, AA 13 m, A m T n Arole] A7t
ZY7} 18, 12, 6 & W, x, y ] ZH F5toiet.

AN /.
21c|n\\ %em
> > Ed l

T 7 \gcm m
/7 \
Ehix= cm

a‘é":y: cm



32. o2 1A /B = /BFE = /DCG = 90°, AB =6, DC = 8,
BG=2,GC =8¢ o, EF 9] Zdo]=?

D

A \

/ \
6 10 i

\ !

\ /

\G /

B\\ / N _7 C

2 Lg -
@ 3.5 B 4



33. o= AtthElE ABCD oA AD
3cm, BC = 7cm ©]ThAD 9 A4 9
o] A E o tiste] BEZF mABCD 9] Hol&
oS5 u), DE ¢ Zolg Ftofet,

o =




34. t}e %94 AE//DF, AC//DEY A
|, EF 9] do|& Ftofoiet.

A

B\ B~9cem-” C
IZsz E



